

$(\epsilon_\gamma, \epsilon_\gamma \vee q_\delta)$ - Fuzzy Bi-Ideals of Near-Rings

M. Himaya Jaleela Begum^a, and P. Ayesha Parveen^b

^a Assistant Professor, Department of Mathematics, Sadakathullah Appa College(Autonomous), Tirunelveli-627011, Affiliated to Manonmaniam Sundaranar University, Tirunelveli-627012, Tamil Nadu, India.

^bResearch Scholar, Department of Mathematics, Sadakathullah Appa College(Autonomous), Tirunelveli-627011, Affiliated to Manonmaniam Sundaranar University, Tirunelveli-627012, Tamil Nadu, India.

Article History: Received: 10 January 2021; Revised: 12 February 2021; Accepted: 27 March 2021; Published online: 20 April 2021

Abstract: In this paper, we introduced the concept of $(\epsilon_\gamma, \epsilon_\gamma \vee q_\delta)$ - fuzzy bi-ideals and $(\bar{\epsilon}_\gamma, \bar{\epsilon}_\gamma \vee \bar{q}_\delta)$ - fuzzy bi-ideals of a near-ring. Some new characterizations are also given. In particular, homomorphic behaviour of $(\epsilon_\gamma, \epsilon_\gamma \vee q_\delta)$ - fuzzy bi-ideals are also discussed. New type of fuzzy bi-ideals of near rings is also introduced.

Keywords: Near-ring, $(\epsilon_\gamma, \epsilon_\gamma \vee q_\delta)$ - fuzzy ideal, $(\epsilon_\gamma, \epsilon_\gamma \vee q_\delta)$ - fuzzy bi-ideal, homomorphism, $(\bar{\epsilon}_\gamma, \bar{\epsilon}_\gamma \vee \bar{q}_\delta)$ - fuzzy bi-ideal. Subject Classification: 16Y30, 03E72

1. Introduction

A new type of fuzzy subgroup, that is, the $(\epsilon, \epsilon \vee q)$ -fuzzy sub group, was introduced by Bhakat and Das[2] using the combined notions of “belongingness” and “quasicoincidence” of fuzzy points and fuzzy sets. In fact, the $(\epsilon, \epsilon \vee q)$ - fuzzy sub group is an important generalization of Rosenfeld’s fuzzy subgroup. It is now natural to investigate similar type of generalizations of the existing fuzzy subsystems with other algebraic structures, see[3, 4, 10-12, 14]. In [3], Davvaz introduced the concepts of $(\epsilon, \epsilon \vee q)$ - fuzzy subnear-rings (ideals) of near-rings and investigated some of their related properties. Zhan[11] considered the concept of $(\bar{\epsilon}, \bar{\epsilon} \vee \bar{q})$ - fuzzy subnear-rings (ideals) of near-rings and obtained some of its related properties. Finally, some characterizations of $[\mu]_t$ by means of $(\epsilon, \epsilon \vee q)$ - fuzzy ideals were also given. Zhan and Yin[14] redefined generalized fuzzy subnear-rings (ideals) of near-ring and investigated some of their related properties. Zhan and Yin [15] also introduce $(\epsilon_\gamma, \epsilon_\gamma \vee q_\delta)$ - fuzzy subnear-rings (ideals) of a near-rings.

In this paper, the concept of $(\epsilon_\gamma, \epsilon_\gamma \vee q_\delta)$ - fuzzy bi-ideals, $(\bar{\epsilon}_\gamma, \bar{\epsilon}_\gamma \vee \bar{q}_\delta)$ - fuzzy bi-ideals of a near-rings is given with its equivalent conditions. We give the relationship between $(\epsilon_\gamma, \epsilon_\gamma \vee q_\delta)$ - fuzzy bi-ideals and crisp ideals of near-rings. The homomorphism in $(\epsilon_\gamma, \epsilon_\gamma \vee q_\delta)$ - fuzzy bi-ideals of a near-rings is also discussed with its related properties. Also we introduce new type of fuzzy bi-ideals of a near-rings.

2. Preliminaries

Definition 2.1: A non-empty set R with two binary operations “+” and “.” is called a left near-ring if it satisfies the following conditions:

1. $(R, +)$ is a group,
2. $(R, .)$ is a semigroup,
3. $x.(y+z) = x.y + x.z$, for all $x, y, z \in R$.

We will use the word “near-ring” to mean “left near-ring” and denote xy instead of $x.y$.

Definition 2.2: [5] A subgroup B of R is said to be a bi-ideal if $BNB \subseteq B$

Note 2.3: [15] A fuzzy set μ of R of the form

$$\mu(y) = \begin{cases} t (\neq 0) & \text{if } y = x, \\ 0 & \text{if } y \neq x, \end{cases}$$

is said to be a fuzzy point with support x and value t and is denoted by x_t . A fuzzy point x_t is said to belong to (resp., be quasi-coincident with) a fuzzy set μ , written as $x_t \in \mu$ (resp., $x_t q \mu$) if $\mu(x) \geq t$ (resp., $\mu(x) + t > 1$). If $x_t \in \mu$ or $x_t q \mu$, then, we write $x_t \in \vee q \mu$. If $\mu(x) < t$ (resp., $\mu(x) + t \leq 1$) then, we call $x_t \bar{\in} \mu$ (resp., $x_t \bar{q} \mu$). We note that the symbol $\bar{\in} \vee q$ means that $\in \vee q$ does not hold.

Result 2.4: [15] Let $\gamma, \delta \in [0,1]$ be such that $\gamma < \delta$. For a fuzzy point x_r and a fuzzy set μ of R , we say that

1. $x_r \in_\gamma \mu$ if $\mu(x) \geq r > \gamma$.
2. $x_r q_\delta \mu$ if $\mu(x) + r > 2\delta$.
3. $x_r \in_\gamma \vee q_\delta \mu$ if $x_r \in_\gamma \mu$ or $x_r q_\delta \mu$.

Definition 2.5: [15] A fuzzy set μ of R is called an $(\epsilon_\gamma, \epsilon_\gamma \vee q_\delta)$ -fuzzy subnear-ring of R if for all $t, r \in (\gamma, 1]$ and $x, y, a \in R$

- i) $x_t \in_\gamma \mu$ and $y_r \in_\gamma \mu$ imply $(x+y)_{t \wedge r} \in_\gamma \vee q_\delta \mu$,
- b) $x_t \in_\gamma \mu$ implies $(-x)_t \in_\gamma \vee q_\delta \mu$,
- ii) $x_t \in_\gamma \mu$ and $y_r \in_\gamma \mu$ imply $(xy)_{t \wedge r} \in_\gamma \vee q_\delta \mu$,

Moreover, μ is called an $(\epsilon_\gamma, \epsilon_\gamma \vee q_\delta)$ -fuzzy ideal of R if μ is $(\epsilon_\gamma, \epsilon_\gamma \vee q_\delta)$ -fuzzy subnear-ring of R and

- iii) $x_r \in_\gamma \mu$ implies $(y + x - y)_r \in_\gamma \vee q_\delta \mu$,
- iv) $y_r \in_\gamma \mu$ and $x \in R$ imply $(xy)_r \in_\gamma \vee q_\delta \mu$,

$\forall a_r \in \gamma \mu$ implies $((x+a)y-xy)_r \in \gamma \vee q_\delta \mu$.

Definition 2.6: [14] Let μ and λ be any two fuzzy sets of R . The product of μ and λ is defined by

$$(\mu \circ \lambda)(x) = \bigvee_{x=ab} (\mu(a) \wedge \lambda(b))$$

and $(\mu \circ \lambda)(x) = 0$ if x cannot be expressed as $x = ab$

Definition 2.7: [14] Let μ and λ be any two fuzzy sets of R . The sum of μ and λ is defined by

$$(\mu + \lambda)(x) = \bigvee_{x=a+b} (\mu(a) \wedge \lambda(b))$$

and $(\mu + \lambda)(x) = 0$ if x cannot be expressed as $x = a + b$.

In particular, for any fuzzy set μ of R and any element x of R , the sum of x and μ is given by

$$(x + \mu)(y) = \bigvee_{y=x+a} \mu(a)$$

and $(x + \mu)(y) = 0$ if x cannot be expressed as $y = x + a$.

$(\in_\gamma, \in_\gamma \vee q_\delta)$ -Fuzzy bi-ideals of near-rings

Definition 3.1: A fuzzy set μ of R is called an $(\in_\gamma, \in_\gamma \vee q_\delta)$ -fuzzy bi-ideal of R if for all $t, r \in (\gamma, 1]$ and $x, y, z \in R$

(I1a) $x_t \in_\gamma \mu$ and $y_r \in_\gamma \mu$ imply $(x+y)_{t \wedge r} \in_\gamma \vee q_\delta \mu$,

(I1a*) $x_t \in_\gamma \mu$ implies $(-x)_t \in_\gamma \vee q_\delta \mu$,

(I1b) $x_t \in_\gamma \mu$ and $y_r \in_\gamma \mu$ imply $(xy)_{t \wedge r} \in_\gamma \vee q_\delta \mu$,

(I1c) $x_t \in_\gamma \mu$ implies $(y+x-y)_t \in_\gamma \vee q_\delta \mu$,

(I1d) $y_t \in_\gamma \mu$ and $x \in R$ imply $(xy)_t \in_\gamma \vee q_\delta \mu$,

(I1e) $z_t \in_\gamma \mu$ implies $((x+z)y-xy)_t \in_\gamma \vee q_\delta \mu$,

(I1f) $x_t \in_\gamma \mu$ and $z_r \in_\gamma \mu$ imply $(xyz)_{t \wedge r} \in_\gamma \vee q_\delta \mu$,

Example 3.2: If $R = \{0, a, b, c\}$ be Klein's four group. Define '+' and '.' in R as follows.

+	0	a	b	c
0	0	a	b	c
a	a	0	c	b
b	b	c	0	a
c	c	b	a	0

.	0	a	b	c
0	0	0	0	0
a	0	a	a	a
b	0	0	0	0
c	0	a	a	c

Then $(R, +, \cdot)$ is a near ring. Define a fuzzy set μ of R as follows $\mu(0)=0.7, \mu(a)=\mu(c)=0.4, \mu(b)=0.8$. Then μ is a $(\in_{0.1}, \in_{0.1} \vee q_{0.5})$ -fuzzy bi-ideal of R .

Theorem 3.3: A fuzzy set μ of R is called an $(\in_\gamma, \in_\gamma \vee q_\delta)$ -fuzzy bi-ideal of R if and only if for all $t, r \in (\gamma, 1]$ and $x, y, z \in R$.

(I2a) $\mu(x+y) \vee \gamma \geq \mu(x) \wedge \mu(y) \wedge \delta$

(I2a*) $\mu(-x) \vee \gamma \geq \mu(x) \wedge \delta$

(I2b) $\mu(xy) \vee \gamma \geq \mu(x) \wedge \mu(y) \wedge \delta$

(I2c) $\mu(y+x-y) \vee \gamma \geq \mu(x) \wedge \delta$

(I2d) $\mu(xy) \vee \gamma \geq \mu(y) \wedge \delta$

(I2e) $\mu((x+z)y-xy) \vee \gamma \geq \mu(z) \wedge \delta$

(I2f) $\mu(xyz) \vee \gamma \geq \mu(x) \wedge \mu(z) \wedge \delta$

Proof: We only prove (I1f) $\Leftrightarrow$ (I2f). The other proofs are similar.

(I1f) $\Rightarrow$ (I2f) If there exists $x, y, z \in R$ such that $\mu(xyz) \vee \gamma < r = \mu(x) \wedge \mu(z) \wedge \delta$ then $\mu(x) \geq r > \gamma, \mu(z) \geq r > \gamma, \mu(xyz) < r$ and $\mu(xyz) + r < 2r \leq 2\delta$ that is $x_r \in_\gamma \mu, z_r \in_\gamma \mu$ but $(xyz)_r \notin_\gamma \vee q_\delta \mu$, a contradiction. Hence (I2f) holds.

(I2f) $\Rightarrow$ (I1f) If there exists $x, y, z \in R$ and $t, r \in (\gamma, 1]$ such that $x_t \in_\gamma \mu, z_r \in_\gamma \mu$ but $(xyz)_{t \wedge r} \notin_\gamma \vee q_\delta \mu$, then $\mu(x) \geq t, \mu(z) \geq r, \mu(xyz) < t \wedge r$ and $\mu(xyz) + t \wedge r \leq 2\delta$. It follows that $\mu(xyz) < \delta$ and so $\mu(xyz) \vee \gamma < t \wedge r \wedge \delta \leq \mu(x) \wedge \mu(y) \wedge \delta$, a contradiction. Hence (I1f) holds.

Remark 3.4: For any $(\epsilon_\gamma, \epsilon_\gamma \vee q_\delta)$ fuzzy bi-ideal of R, we can conclude that

1. If $\gamma = 0$ and $\delta = 1$, then μ is the fuzzy bi-ideal of R.
2. If $\gamma = 0$ and $\delta = 0.5$, then μ is the $(\epsilon, \epsilon \vee q)$ fuzzy bi-ideal of R.
3. If $\gamma = 0.5$ and $\delta = 1$, then μ is the $(\bar{\epsilon}, \bar{\epsilon} \vee \bar{q})$ fuzzy bi-ideal of R.

Note 3.5: For any fuzzy set μ of R, we define $\mu_r^\gamma = \{x \in R / x_r \in_\gamma \mu\}$,

$$\mu_r^\delta = \{x \in R / x_r \in_{q_\delta} \mu\}$$

$$[\mu]_r^\delta = \{x \in R / x_r \in_\gamma \vee q_\delta \mu\} \text{ for all } r \in [0, 1]. \text{ It is clear that } [\mu]_r^\delta = \mu_r^\gamma \cup \mu_r^\delta$$

The next theorem provides the relationship between $(\epsilon_\gamma, \epsilon_\gamma \vee q_\delta)$ -fuzzy bi-ideals of R and crisp bi-ideals of R.

Theorem 3.6: Let μ be a fuzzy set of R. Then

- 1) μ is an $(\epsilon_\gamma, \epsilon_\gamma \vee q_\delta)$ -fuzzy bi-ideal of R if and only if $\mu_r^\gamma (\neq \emptyset)$ is a bi-ideal of R for all $r \in (\gamma, \delta]$
- 2) If $2\delta = 1 + \gamma$, then μ is an $(\epsilon_\gamma, \epsilon_\gamma \vee q_\delta)$ -fuzzy bi-ideal of R if and only if $\mu_r^\delta (\neq \emptyset)$ is a bi-ideal of R for all $r \in (\delta, 1]$
- 3) If $2\delta = 1 + \gamma$, then μ is an $(\epsilon_\gamma, \epsilon_\gamma \vee q_\delta)$ -fuzzy bi-ideal of R if and only if $[\mu]_r^\delta (\neq \emptyset)$ is a bi-ideal of R for all $r \in (\gamma, 1]$

Proof: 1) We only prove last condition. The other proofs are similar.

(I2f) Let μ be an $(\epsilon_\gamma, \epsilon_\gamma \vee q_\delta)$ -fuzzy bi-ideal of R and $x, y, z \in \mu_r^\gamma$ for all $r \in (\gamma, \delta]$, then $\mu(x) \geq r > \gamma$, $\mu(y) \geq r > \gamma$, $\mu(z) \geq r > \gamma$. It follows that $\mu(xyz) \vee \gamma \geq \mu(x) \wedge \mu(z) \wedge \delta \geq r \wedge \delta = r$. (i.e) $xyz \in \mu_r^\gamma$. Similarly, we can prove the other conditions of bi-ideals hold. Hence μ_r^γ is a bi-ideal of R for all $r \in (\gamma, \delta]$. Conversely, assume that μ_r^γ is a bi-ideal of R for all $r \in (\gamma, \delta]$. Let $x, y \in R$. If $\mu(xyz) \vee \gamma < r = \mu(x) \wedge \mu(z) \wedge \delta$ then $x_r \in_\gamma \mu$, $z_r \in_\gamma \mu$ but $(xyz)_r \notin_{\epsilon_\gamma \vee q_\delta} \mu$ that is $x, y, z \in \mu_r^\gamma$, since μ_r^γ is a bi-ideal, we have $xyz \in \mu_r^\gamma$, a contradiction. Hence $\mu(xyz) \vee \gamma \geq \mu(x) \wedge \mu(z) \wedge \delta$. Thus μ be an $(\epsilon_\gamma, \epsilon_\gamma \vee q_\delta)$ -fuzzy bi-ideal of R.

The proof of (2) is similar to the proof of (1)

3) We only prove last condition. The other proofs are similar.

(I2f) Let μ be an $(\epsilon_\gamma, \epsilon_\gamma \vee q_\delta)$ -fuzzy bi-ideal of R and $r \in (\gamma, 1]$. Then for all $x, y, z \in [\mu]_r^\delta$, we have $x_r \in_\gamma \vee q_\delta \mu$, $y_r \in_\gamma \vee q_\delta \mu$ and $z_r \in_\gamma \vee q_\delta \mu$, that is $\mu(x) \geq r > \gamma$ (or) $\mu(x) > 2\delta - r > 2\delta - 1 = \gamma$, $\mu(y) \geq r > \gamma$ (or) $\mu(y) > 2\delta - r > 2\delta - 1 = \gamma$ and $\mu(z) \geq r > \gamma$ (or) $\mu(z) > 2\delta - r > 2\delta - 1 = \gamma$. Since μ is an $(\epsilon_\gamma, \epsilon_\gamma \vee q_\delta)$ -fuzzy bi-ideal of R, then $\mu(xyz) \vee \gamma \geq \mu(x) \wedge \mu(z) \wedge \delta$ and so $\mu(xyz) \geq \mu(x) \wedge \mu(z) \wedge \delta$.

Case(i): $r \in (\gamma, \delta]$ then $2\delta - r \geq \delta \geq \gamma$ and so $\mu(xyz) \geq r \wedge r \wedge \delta = r$ (or) $\mu(xyz) \geq r \wedge (2\delta - r) \wedge \delta = r$ (or) $\mu(xyz) \geq (2\delta - r) \wedge (2\delta - r) \wedge \delta = \delta \geq r$. Hence $(xyz)_r \in_\gamma \mu$.

Case(ii): $r \in (\delta, 1]$ then $2\delta - r < \delta < \gamma$ and so $\mu(xyz) \geq r \wedge r \wedge \delta = \delta > 2\delta - r$ (or) $\mu(xyz) > r \wedge (2\delta - r) \wedge \delta = 2\delta - r$ (or) $\mu(xyz) > (2\delta - r) \wedge (2\delta - r) \wedge \delta = 2\delta - r$. Hence $(xyz)_r \in_{q_\delta} \mu$. Thus in any case $(xyz)_r \in_\gamma \vee q_\delta \mu$ that is $xyz \in [\mu]_r^\delta$. Hence $[\mu]_r^\delta$ is a bi-ideal of R.

Conversely, assume that $[\mu]_r^\delta$ is a bi-ideal of R for all $r \in (\gamma, \delta]$. Let $x, y \in R$. If $\mu(x+y) \vee \gamma < r = \mu(x) \wedge \mu(y) \wedge \delta$ then $x_r \in_\gamma \mu$, $y_r \in_\gamma \mu$ but $(x+y)_r \notin_{\epsilon_\gamma \vee q_\delta} \mu$ that is $x, y \in [\mu]_r^\delta$, since $[\mu]_r^\delta$ is a bi-ideal, we have $x+y \in [\mu]_r^\delta$, a contradiction. Hence $\mu(x+y) \vee \gamma \geq \mu(x) \wedge \mu(y) \wedge \delta$. Similarly, Let $x, y, z \in R$. If $\mu(xyz) \vee \gamma < r = \mu(x) \wedge \mu(z) \wedge \delta$ then $x_r \in_\gamma \mu$, $z_r \in_\gamma \mu$ but $(xyz)_r \notin_{\epsilon_\gamma \vee q_\delta} \mu$ that is $x, z \in [\mu]_r^\delta$, since $[\mu]_r^\delta$ is a bi-ideal, we have $xyz \in [\mu]_r^\delta$, a contradiction. Hence $\mu(xyz) \vee \gamma \geq \mu(x) \wedge \mu(z) \wedge \delta$. Similarly, we can prove other results. Thus μ is an $(\epsilon_\gamma, \epsilon_\gamma \vee q_\delta)$ -fuzzy bi-ideal of R.

Theorem 3.7: The intersection of any family of $(\epsilon_\gamma, \epsilon_\gamma \vee q_\delta)$ -fuzzy bi-ideal of R is an $(\epsilon_\gamma, \epsilon_\gamma \vee q_\delta)$ -fuzzy bi-ideal of R.

Proof: Let $\{\mu_i\}_{i \in I}$ be a family of $(\epsilon_\gamma, \epsilon_\gamma \vee q_\delta)$ -fuzzy bi-ideal of R and $x, y, z \in R$. Then $(\bigwedge_{i \in I} \mu_i)(xyz) \vee \gamma = \bigwedge_{i \in I} (\mu_i(xyz)) \vee \gamma$. Since each μ_i is an $(\epsilon_\gamma, \epsilon_\gamma \vee q_\delta)$ -fuzzy bi-ideal of R, so $\mu(xyz) \vee \gamma \geq \mu(x) \wedge \mu(z) \wedge \delta$.

Now, $(\bigwedge_{i \in I} \mu_i)(xyz) \vee \gamma = \bigwedge_{i \in I} (\mu_i(xyz)) \vee \gamma \geq \bigwedge_{i \in I} (\mu_i(x) \wedge \mu_i(z) \wedge \delta) = (\bigwedge_{i \in I} \mu_i)(x) \wedge (\bigwedge_{i \in I} \mu_i)(z) \wedge \delta$. Hence, $(\bigwedge_{i \in I} \mu_i)$ is an $(\epsilon_\gamma, \epsilon_\gamma \vee q_\delta)$ -fuzzy bi-ideal of R.

Theorem 3.8: The union of any family of $(\epsilon_\gamma, \epsilon_\gamma \vee q_\delta)$ -fuzzy bi-ideal of R is an $(\epsilon_\gamma, \epsilon_\gamma \vee q_\delta)$ -fuzzy bi-ideal of R.

Proof: It can be easily verified.

Theorem 3.9: Let $f: R \rightarrow S$ be a onto homomorphism of near rings if B be a $(\epsilon_\gamma, \epsilon_\gamma \vee q_\delta)$ -fuzzy bi-ideal of S, then the pre image of $f^{-1}(B)$ of B under f in R is also an $(\epsilon_\gamma, \epsilon_\gamma \vee q_\delta)$ -fuzzy bi-ideal of R.

Proof: For all $x, y \in R$. Then $f^{-1}(\mu)(x+y) \vee \gamma = \mu(f(x+y)) \vee \gamma = \mu(f(x)+f(y)) \vee \gamma \geq \mu(f(x)) \wedge \mu(f(y)) \wedge \delta = f^{-1}(\mu)(x) \wedge f^{-1}(\mu)(y) \wedge \delta$

Also, for all $x, y, z \in R$. Then $f^{-1}(\mu)(xyz) \vee \gamma = \mu(f(xyz)) \vee \gamma = \mu(f(x) f(y) f(z)) \vee \gamma \geq \mu(f(x)) \wedge \mu(f(z)) \wedge \delta = f^{-1}(\mu)(x) \wedge f^{-1}(\mu)(z) \wedge \delta$. Hence, $f^{-1}(B)$ is an $(\epsilon_\gamma, \epsilon_\gamma \vee q_\delta)$ -fuzzy bi-ideal of R.

Theorem 3.10: Let $f: R \rightarrow S$ be an onto homomorphism of near rings then B be a $(\epsilon_\gamma, \epsilon_\gamma \vee q_\delta)$ -fuzzy bi-ideal of S, if $f^{-1}(B)$ of B under f in R is also an $(\epsilon_\gamma, \epsilon_\gamma \vee q_\delta)$ -fuzzy bi-ideal of R.

Proof: It can be easily verified.

4. $(\bar{\epsilon}_\gamma, \bar{\epsilon}_\gamma \vee \bar{q}_\delta)$ -Fuzzy bi-ideals of near-rings

Definition 4.1: A fuzzy set μ of R is called an $(\bar{\epsilon}_\gamma, \bar{\epsilon}_\gamma \vee \bar{q}_\delta)$ -fuzzy bi-ideal of R if for all $t, r \in (\gamma, 1]$ and $x, y, z \in R$

(I3a) $(x+y)_t \wedge_r \bar{\epsilon}_\gamma \mu$ implies $x_t \bar{\epsilon}_\gamma \vee \bar{q}_\delta \mu$ or $y_r \bar{\epsilon}_\gamma \vee \bar{q}_\delta \mu$,

(I3a*) $(-x)_t \bar{\epsilon}_\gamma \mu$ implies $x_t \bar{\epsilon}_\gamma \vee \bar{q}_\delta \mu$,

(I3b) $(xy)_t \wedge_r \bar{\epsilon}_\gamma \mu$ implies $x_t \bar{\epsilon}_\gamma \vee \bar{q}_\delta \mu$ or $y_r \bar{\epsilon}_\gamma \vee \bar{q}_\delta \mu$,

(I3c) $(y+x-y)_t \bar{\epsilon}_\gamma \mu$ implies $x_t \bar{\epsilon}_\gamma \vee \bar{q}_\delta \mu$,

(I3d) $(xy)_t \bar{\epsilon}_\gamma \mu$ and $x \in R$ implies $y_t \bar{\epsilon}_\gamma \vee \bar{q}_\delta \mu$,

(I3e) $((x+z)y-xy)_t \bar{\epsilon}_\gamma \mu$ implies $z_t \bar{\epsilon}_\gamma \vee \bar{q}_\delta \mu$,

(I3f) $(xyz)_t \wedge_r \bar{\epsilon}_\gamma \mu$ implies $x_t \bar{\epsilon}_\gamma \vee \bar{q}_\delta \mu$ or $z_r \bar{\epsilon}_\gamma \vee \bar{q}_\delta \mu$

Theorem 4.2: A fuzzy set μ of R is called an $(\bar{\epsilon}_\gamma, \bar{\epsilon}_\gamma \vee \bar{q}_\delta)$ -fuzzy bi-ideal of R if and only if for all $t, r \in (\gamma, 1]$ and $x, y, z \in R$.

(I4a) $\mu(x+y) \vee \delta \geq \mu(x) \wedge \mu(y)$

(I4a*) $\mu(-x) \vee \delta \geq \mu(x)$

(I4b) $\mu(xy) \vee \delta \geq \mu(x) \wedge \mu(y)$

(I4c) $\mu(y+x-y) \vee \delta \geq \mu(x)$

(I4d) $\mu(xy) \vee \delta \geq \mu(y)$

(I4e) $\mu((x+z)y-xy) \vee \delta \geq \mu(z)$

(I4f) $\mu(xyz) \vee \delta \geq \mu(x) \wedge \mu(z)$

Proof: The proof is similar to the proof of theorem 3.3

Theorem 4.3: Let μ be a fuzzy set of R . Then

1) μ is an $(\bar{\epsilon}_\gamma, \bar{\epsilon}_\gamma \vee \bar{q}_\delta)$ -fuzzy bi-ideal of R if and only if $\mu_r^\gamma (\neq \emptyset)$ is a bi-ideal of R for all $r \in (\delta, 1]$

2) μ is an $(\bar{\epsilon}_\gamma, \bar{\epsilon}_\gamma \vee \bar{q}_\delta)$ -fuzzy bi-ideal of R if and only if $\mu_r^\delta (\neq \emptyset)$ is a bi-ideal of R for all $r \in (\gamma, \delta]$

Proof: The proof is similar to the proof of theorem 3.6

5. New type fuzzy bi-ideal of near-rings

Let μ and λ be any two fuzzy sets of R . If $x_t \in_\gamma \mu$ implies $x_t \in_\gamma \vee q_\delta \lambda$ for all $x \in R$ and $t \in (0, 1]$, then we write $\mu \subseteq \vee q_\delta \lambda$. If $x_t \bar{\epsilon}_\gamma \mu$ implies $x_t \bar{\epsilon}_\gamma \vee \bar{q}_\delta \lambda$ for all $x \in R$ and $t \in (0, 1]$, then we write $\mu \supseteq \vee \bar{q}_\delta \lambda$.

Definition 5.1: A fuzzy set μ of R is called a new $(\epsilon_\gamma, \epsilon_\gamma \vee q_\delta)$ -fuzzy bi-ideal of R if it satisfies:

(I5a) $(\mu + \mu) \subseteq \vee q_\delta \mu$

(I5a*) $\mu^{-1} \subseteq \vee q_\delta \mu$

(I5b) $(\mu \circ \mu) \subseteq \vee q_\delta \mu$

(I5c) $(y + \mu - y) \subseteq \vee q_\delta \mu$

(I5d) $(\chi_R \circ \mu) \subseteq \vee q_\delta \mu$

(I5e) $((x + \mu) \circ y - xy) \subseteq \vee q_\delta \mu$

(I5f) $(\mu \circ Y_R \circ \mu) \subseteq \vee q_\delta \mu$

Theorem 5.2: A fuzzy set μ of R is a new $(\epsilon_\gamma, \epsilon_\gamma \vee q_\delta)$ -fuzzy bi-ideal of R if and only if it satisfies (I2a), (I2a*), (I2b), (I2c), (I2d), (I2e), (I2f)

Proof: Let μ be a new $(\epsilon_\gamma, \epsilon_\gamma \vee q_\delta)$ -fuzzy bi-ideal of R . We only prove (I5f). The others are similar.

If there exists $x, y, z \in R$ such that $\mu(xyz) \vee \gamma < t = \mu(x) \wedge \mu(z) \wedge \delta$ then $t < \delta$, $x_t \in_\gamma \mu$, $y_t \in_\gamma \mu$, $z_t \in_\gamma \mu$ but $(xyz)_t \in_\gamma \vee \bar{q}_\delta \mu$.

Since,

$$(\mu \circ Y_R \circ \mu)(xyz) = \bigvee_{(xyz)=(abc)} (\mu(a) \wedge \mu(c))$$

$$\geq \mu(x) \wedge \mu(z) \geq t,$$

we have $(xyz)_t \in_\gamma (\mu \circ Y_R \circ \mu)$. Thus $(xyz)_t \in_\gamma \vee q_\delta \mu$, a contradiction. This proves (I2f) holds.

Conversely, assume that the conditions hold. We only prove (I5f) holds. The others are similar. Let $x, y, z \in R$ and $t \in (0, 1]$ be such that $x_t \in_\gamma (\mu \circ Y_R \circ \mu)$ but $x_t \bar{\epsilon}_\gamma \vee \bar{q}_\delta \mu$. Then $\mu(x) < t$ and $\mu(x) < \delta$. By definition

$$(\mu \circ Y_R \circ \mu)(x) = \bigvee_{x=(abc)} (\mu(a) \wedge \mu(c))$$

Since $\delta > \mu(x) = \mu(abc) = \mu(abc) \vee \gamma \geq \mu(a) \wedge \mu(c) \wedge \delta$ and so $\mu(x) \geq \mu(a) \wedge \mu(c)$. Thus

$$t \leq (\mu \circ Y_R \circ \mu)(x) \leq \bigvee_{x=(abc)} \mu(x) = \mu(x)$$

that is $\mu(x) \geq t$, a contradiction. This proves (I5f) holds.

Definition 5.3: A fuzzy set μ of R is called a new $(\bar{\epsilon}_\gamma, \bar{\epsilon}_\gamma \vee \bar{q}_\delta)$ -fuzzy bi-ideal of R if it satisfies:

(I6a) $\mu \supseteq \vee \bar{q}_\delta (\mu + \mu)$

(I6a*) $\mu \supseteq \vee \bar{q}_\delta \mu^{-1}$

(I6b) $\mu \supseteq \vee \bar{q}_\delta (\mu \circ \mu)$

$$(I6c) \mu \supseteq \bigvee \bar{q}_\delta(y + \mu - y)$$

$$(I6d) \mu \supseteq \bigvee \bar{q}_\delta(\chi_R \circ \mu)$$

$$(I6e) \mu \supseteq \bigvee \bar{q}_\delta((x + \mu) \circ y - xy)$$

$$(I6f) \mu \supseteq \bigvee \bar{q}_\delta(\mu \circ Y_R \circ \mu)$$

Theorem 5.4: A fuzzy set μ of R is a new $(\bar{\epsilon}_\gamma, \bar{\epsilon}_\gamma \vee \bar{q}_\delta)$ -fuzzy bi-ideal of R if and only if it satisfies (I4a), (I4a*), (I4b), (I4c), (I4d), (I4e), (I4f)

Proof: The proof is similar to the proof of Theorem 5.2

6. Conclusion:

In this paper, we discussed the concept of $(\epsilon_\gamma, \epsilon_\gamma \vee q_\delta)$ -fuzzy bi-ideals of a near-rings and gave several characterizations. Also we gave the homomorphism condition in $(\epsilon_\gamma, \epsilon_\gamma \vee q_\delta)$ -fuzzy bi-ideals of near-rings. Our definitions probably can be applied in other kinds of near-rings.

References

1. Abou-Zaid A (1996) "On fuzzy subnear-rings". Fuzzy Sets Syst 81: 383-393
2. Bhakat SK, Das P (1996) " $(\epsilon, \epsilon \vee q)$ -fuzzy subgroups". Fuzzy Sets Syst 80: 359-368
3. Davvaz B (2006) " $(\epsilon, \epsilon \vee q)$ -fuzzy subnear-rings and ideals". Soft Comput 10: 206-211
4. Davvaz B (2008) "Fuzzy R -subgroups with thresholds of near-rings and implication operators". Soft Comput 12: 875-879
5. Himaya Jaleela Begum M (2015) "On T-Fuzzy bi-ideals in near-rings with respect to t -norm". International Research Journal of Pure Algebra-5(8): 118-121
6. Hong SM, Jun YJ, Kim HS (1998) "Fuzzy ideals in near-rings". Bull Koran Math Soc 35: 343-348
7. Kim SD, Kim HS (1996) "On fuzzy ideals in near-rings". Bull Koran Math Soc 35: 593-601
8. Pilz G (1983) "Near-rings", 2nd edn, North-Holland Mathematics Studies, Vol 23. North-Holland, Amsterdam
9. Yin Y, Zhan J (2010) "New types of fuzzy filters of BL-algebras". Comput Math Appl 60: 2115-2125
10. Yuan X, Zhang C, Ren Y(2003) "Generalized fuzzy groups and many valued applications". Fuzzy Sets Syst 38: 205-211
11. Zhan J, Davvaz B (2009) "Generalized fuzzy ideals of near-rings". Appl Math J Chin Univ Ser B 24: 343-349
12. Zhan J, Dudek WA (2007) "Fuzzy h -ideals of hemirings". Inform Sci 177: 876-886
13. Zhan J, Ma X (2005) "Intuitionistic fuzzy ideals of near-rings". Sci Math Japon 61: 219-223
14. Zhan J, Yin Y (2010) "Redefined generalized fuzzy ideals of near-rings". Appl Math J Chin Univ Ser B 25(3): 341-348
15. Zhan J, Yin Y (2012) "New types of fuzzy ideals of near-rings". Neural Comput & Applic 21: 863-868